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307 21Z2tol & 335,000 287,000 48,000
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201 dEt2 A 4,000 4,000 0
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MARDE D
DIMEONY (UBT DT /UBHT)
JhorE 2rel & 2 5t

DA HB L CP(E) - HRAY - BAS Ak e 2t
O=SAHEEANE A =L X & 10,000
I ESHA AR 100,000 100,000 0
308 XX SHHSO0IA 100,000 100,000 0
01 XM BLEES 100,000 100,000 0
St 3BHA LA 100,000
FESIIEBLH2Y 51,120 0 51,120
= 25,560
L= 25,560
301 et a3 51,120 0 51,120
= 25,560
& 25,560
12 J|Et2 43 51,120 0 51,120
OJ==22)I2LHAHIE4 60,0003 *71F 122 51,120
= 25,560
= 25,560
HIAd I E& 142,644 154,255 211,611
= 13,875
& 128,769
HE AU MEFTALS 65,849 69,755 23,906
301 et a3 15,849 18,755 A 2,906
12 J|Et2 43 15,849 18,755 A 2,906
OAHI A ZAIREA S
0,830& 15«10«23 12,249
OAHIRA B EAISE NHAE S Y
1,800& *1,000H 23] 3,600
307 2Iz2tol A 20,000 20,000 0
02 QItF A8 X 20,000 20,000 0
OAHI G20 S S X E A S X 10,000
OHSStAHI N EE 2R 10,000
308 AtXICHM S 01 & 30,000 30,000 0
06 WEIIZ0NUHSELES 30,000 30,000 0
RPSTPYEONE P R
3,000,000& 1070 ! 30,000
HIXHdEH =2 62,920 70,700 AT,780
201 Bt2A | 46,000 42,100 3,900
01 At 2teltl 43,000 42,100 900
Oget=&H| 21,000
Ot MHUST WS WIS 2t 21,000
O2d9=¢ 22,000
O2HI MW AsE 20,000
OXHINHE B A EAE 2,000




FA QB R WS
M OIMBOE (AU BB /L HE)
& AHIXH2EE (ctel: &
SN HB SR (BIH) - A - B S 0l &b S D=2
= T ° TNe S =S (L] 04| AFOH 1Lss
02 2324l 3,000 0 3,000
DA & EHIK XL 3,000
OAHIXHE S H Ol X=X &2 3,000
202 (4 4l 8,000 8,000 0
01 =2 A bl 8,000 8,000 0
OAHIANEHSIEHRFR 0 8,000
301 et a3 8,920 10,600 21,680
10 HAIAHIE &3 2,800 4,480 21,680
OAHI G RSEEAXHE 24
70,0003 x20Z *23| 2,800
12 J|Et2 43 6,120 6,120 0
OAHIGEHIZS A 24
70,000 »1H 4L 128 3,360
OAHIGEHZREANZ RS
230,000& 1H~12& 2,760
LHIMEHH2G XA 13,875 13,800 75
= 13,875
307 21Ztol 13,875 13,800 75
= 13,875
02 It A8 X 13,875 13,800 75
OAHIARESESKE 13,875
= 13,875
WEMAIARAF(+SLWE/UHELE - SFSIIEH 21,816,313 20,505, 148 1,311,165
= 2,537,000
= 10,991,240
= 8,288,073
HEnsSAdl AL 20,996,513 19,526,788 1,469,725
= 2,537,000
= 10,991,240
& 7,468,273
EETHARFHAA 94,500 90,000 4,500
308 XXM SO0IA 94,500 90,000 4,500
01 IXNHHBSEXS 94,500 90,000 4,500
IE=E= = PN DAL 94,500
EERUHBLEZUXA 3,411,000 3,155,200 255,800
= 2,274,000
& 1,137,000
308 AtXI M SO & 3,411,000 3,155,200 255,800
= 2,274,000
= 1,137,000
01 XM BAEELS 3,411,000 3,155,200 255,800
OSSN ME2A XA 3,411,000
= 2,274,000




A SIMAN WS
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| < 1,137,000
WEATNE/ASHHMAHARZL XS 342,000 260,000 82,000
= 263,000
== 79,000
403 XIXI SIS K201 A 342,000 260,000 82,000
= 263,000
& 79,000
01 AXESHHAE2EX 342,000 260,000 82,000
(nNEAXNERSTHAHAZUXNRA 342,000
= 263,000
& 79,000
HzWsSSSAIEHEXNSH 9,251,614 8,452,000 799,614
= 5,098,214
== 4,153,400
202 044 8,000 8,000 0
01 2L I 8,000 8,000 0
(O USS2SAYMARNRAL =X 8,000
307 QI2t0| & 9,243,614 8,444,000 799,614
= 5,098,214
o= 4,145,400
09 2LHHEXZ 9,243,614 8,444,000 799,614
COANHASSAIE THA XK (0]2F) 9,243,614
= 5,098,214
& 4,145,400
HIAldE=ABAZ 1,962, 185 1,867,758 94,427
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(OsHEZ2Y9HARAUXIA (0] L) 270,000
= 270,000
2stHAZ =X 147,000 140,000 7,000
308 AXISHMSOIA 147,000 140,000 7,000
01 IXIEHBAEXZ 147,000 140,000 7,000




SN SMAH DS D
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01 A RE ] 150,000 0 50,000
O ATNSHSSAL NS UN AR IR 150,000
NUHL S0 EHASSAISTHE IR 5,008,214 4,408,971 689,243
= 5,098,214
403 Xt XI SRS XH 0] & 5,008,214 4,408,971 689, 243
= 5,098,214
01 KX EHRIXH2 2 % 5,008,214 4,408,971 689, 243
OANULSHEHASSALHE IR (012) 5,098,214
= 5,098,214
SEDS4HIYX S 42,000 0 42,000
403 Xk X EHRIS XH2 0 & 42,000 0 42,000
01 KX EHRIXH2 2 % 42,000 0 42,000
(SZRELSNS YN 42,000
HERSSZHA 819,800 978,360 A 158,560
DEHH A 32,300 31,600 700
201 YEr2gy| 20,700 20,000 700
01 At 22|t 20,700 20,000 700
Oersgt| 8,700
ONESHVZHHHRS 8,700
O2gsg 10,000
ONEYFEIM NG FA LY 10,000
WETpE] 2,000
OB AU IS S QAY DA S B XS
o Xt 2,000
202 04t 8,000 8,000 0
01 2LHOI b 8,000 8,000 0
ORSHAZEIYLER0HH] 8,000
301 BB AE 3,000 3,000 0
12 JIEH2 42 3,000 3,000 0
ORSIRTVAATE 3,000
303 T2 600 600 0
NEZRE) 600 600 0
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